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1. Video description

The supplementary video file shows the Fisher zeros of the L = 4 system for R
continuously varying from 0 to —1 as determined by numerically solving for the roots of
the polynomial, analogous to Figure 1 of the main text. Note that our Mathematica script
fails to find zeros very close to the real axis. Hence, throughout the animation some zeros
appear and disappear. This includes the leading zero which disappears for R close to —1/4.
By numerically evaluating Equation (6) of the main text, we confirmed that the zero does
not actually disappear, but rather approaches the origin as R goes to —1/4.

2. All FSS fitting results

In this section we provide tables with the details of all performed FSS fits for varying
fit intervals from Lyin t0 Lmax. In all tables X% denotes the x? value per degree of freedom
computed from the error-weighted fits.
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2.1. Temperature exponent y;
2.1.1. From the imaginary part of the Fisher zeros

Table S1. Fitting parameters of FSS fits using the ansatz &(Bo(L)) = aL~¥ for R = —0.1 and different
fitting ranges.

Lmax 24 32 48 64 88

Lmin

a=1249(17) a=1249(14) a=1285(10) a=12908(99) a = 1.2942(98)

8 yr = 0.9668(61) y; = 0.9667(48) y; =0.9796(31) y; =0.9817(29) y; = 0.9829(29)
X2 =026 X2 =013 X2 = 4.25 X2 =397 X2 =421
a=1269(60) a=1380(37) a=1391(33) a=1.402(33)
16 - yr = 0972(15)  y; = 1.0001(79) y; = 1.0026(70) y; = 1.0052(68)
X% =013 X% =234 =172 X% =200
a=1467(71)  a=1472(61)  a = 1.495(60)
24 - - v =1.017(13)  y; =1.018(11)  y; = 1.022(11)
X2 =235 X2 =118 X2 =138
a=1.62(13) a=1.66(12)
32 - - - yr = 1.042(21)  y; = 1.049(19)
X% =036 X% =057
a = 1.65(25)
48 - - - - yr = 1.048(38)
X2 =114

Table S2. As Table S1 but for R = —0.2.

Lmax 24 32 48 64 88

Lmin

a=2856(25) a=2888(23) a=2960(20) a=2982(18)  a=23.021(17)

8 yr = 09215(35) y; = 0.9263(31) y; = 0.9369(26) y; = 0.9400(23) y; = 0.9453(21)
=172 X% =525 X% =15.93 X% = 1361 X2 =17.73
a=3097(77) a=3244(52) a=23221(42) a=3.281(37)
16 - yr = 0.9500(86) y; = 0.9663(54) y; = 0.9639(42) y; = 0.9702(37)
X2 =158 X2 =378 X2 =271 X2 =417
a = 3.59(14) a = 3.40(10) a = 3.502(86)
24 - - yr = 0994(12)  y; = 0.9780(83) y: = 0.9872(68)
X% =013 X% =213 X% =258
a=3.26(19) a = 3.52(15)
32 - - - yr = 0968(15)  y; = 0.988(11)
X% =358 X% =387
a = 3.54(29)
48 - - - - yr = 0.990(20)

X2=772
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Table S3. As Table S1 but for R = —0.21.

Lmax 24 32 48 64 88
Lmin
a=23609(24) a=23628(21) a=23663(18) a=3693(16) a=3.708(16)
8 yr = 09238(28) y; = 0.9262(24) y; = 0.9304(19) y; = 0.9340(17) y; = 0.9357(16)
X% =552 =411 X% =558 X2 =927 X2 =975
a=3859(86) a=23870(55) a=23937(48)  a=3.965(45)
16 - yr = 0.9461(73) y; = 0.9470(45) y; = 0.9527(38) y; = 0.9550(35)
X% =0.03 X% =0.03 =192 X% =205
a = 3.87(10) a=4008(85)  a=4.053(77)
24 - - yr = 0.9471(77)  y; = 0.9575(61) y; = 0.9609(53)
X% =0.05 X% =236 X% =203
a=4.21(18) a = 4.26(15)
32 - - - yr = 0970(11)  y; = 0.9737(93)
X2 = 3.00 X2 =1.64
a = 4.70(33)
48 - - - - yr = 0.998(17)
X% =059
Table S4. As Table S1 but for R = —0.22.
Lmax 24 32 48 64 88
Linin
a=>5088(34) a=05118(28) a=5128(26) a=>5179(23)  a =5.239(20)
8 yr = 0.9328(30) y; =0.9356(23) y; = 0.9364(21) y; = 0.9410(18) y; = 0.9461(15)
X2 =3.39 X2 =277 X2 =215 X2 = 5.59 X2 =945
a = 5.40(13) a=5.38(11) a=5503(80) a=5597(62)
16 - yr = 0.9525(76) y; = 0.9513(63) y: = 0.9588(45) y; = 0.9644(32)
X% =0.04 X% = 0.06 X% =1.00 X% =156
a=531(22) a=5.60(14) a = 5.714(97)
24 - - yr = 0948(13)  y; = 0.9634(71) y; = 0.9697(46)
X% =001 =116 X2 =124
a=577(24) a = 5.88(16)
32 - - - yr =0971(11)  y; = 0.9766(68)
X2 =137 X2 =087
a = 6.35(45)
48 - - - - yr = 0.995(16)

X2 =032
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2.1.2. From ordinary FSS

Table S5. Fitting parameters of FSS fits using the ansatz dIn|m|max(L) = aLl¥* for R = —0.1 and
different fitting ranges.

Lmax 24 32 48 64 88
Lmin
a=06599(42) a=06619(33) a=06623(30) a=0.6627(28) a=0.6624(24)
8 yr = 0.9957(24) y; = 0.9943(17) y; = 0.9941(15) y; = 0.9939(13)  y; = 0.9941(11)
X2 = 0.99 X2 =082 X2 =057 X2 =045 X2 =037
a=0679(22) a=0670(12) a=06681(82) a=0.6644(57)
16 - yr = 0.9867(96) y; = 0.9908(51) y; = 0.9916(35) y; = 0.9932(23)
X% =098 X% =062 X% =043 X% =042
a=0670(12)  a=06681(82) a=0.6644(57)
24 - - yr = 0.9908(51) y; = 0.9916(35) y; = 0.9933(23)
X2 =025 X2 =0.15 X2 =023
a=0663(12)  a=0.6602(78)
32 - - - yr = 0.9935(50)  y; = 0.9948(31)
X2 =0.01 X% =0.05
a = 0.657(18)
48 - - - - yr = 0.9959(65)
X% =007
Table S6. As Table S5 but for R = —0.2.
Lmax 24 32 48 64 88
Lmin
a=03174(21) a=03123(15) a=03078(13) a=0.3051(12) a = 0.29727(97)
8 yr = 09211(27) y; = 0.9284(18) y; = 0.9344(15) y; = 0.9380(14) y; = 0.9484(10)
X2 = 9.65 X2 =11.55 X% = 21.90 X% = 25.60 X% =47.13
a=02918(44) a=02841(32) a=02803(27) a=0.2730(18)
16 - yr = 0.9493(47) y; = 0.9581(34) y; = 0.9625(29) y; = 0.9707(19)
X% = 0.00 X2 =377 X% =435 X% = 6.60
a=02729(61) a=02689(46) a = 0.2643(26)
24 - - yr = 0.9694(64) y; = 0.9737(48) y; = 0.9788(26)
X2 =315 X2 =210 X2 =192
a=02597(62) a=0.2593(33)
32 - - - yr = 0.9829(65) y; = 0.9833(32)
X% =0.00 X% =0.00
a = 0.2588(73)
48 - - - - y = 0.9838(67)

X% = 0.00
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Table S7. As Table S5 but for R = —0.21.

Lmax 24 32 48 64 88
Lmin
a=02733(23) a=02590(15) a=02505(11) a=0.2484(11) a = 0.24342(96)
8 y; = 0.8953(31) y; = 0.9170(19) y; = 0.9294(14) y; = 0.9323(13) y; = 0.9392(12)
X% =15.57 X% =46.27 X% = 63.30 X% = 55.68 X% = 69.06
a=02401(24) a=02342(16) a=02328(15) a=0.2284(12)
16 - yr = 0.9405(31) y; = 0.9488(20) y; = 0.9508(19) y; = 0.9567(16)
X% =461 X% =841 X2 =725 X% =13.99
a=02214(34) a=02209(28) a=02161(21)
24 - - yr = 0.9642(43) y; = 0.9648(35) y; = 0.9711(26)
X% = 0.00 X% =0.03 X2 =221
a=02206(36) a=0.2146(24)
32 - - - yr = 0.9652(44)  y; = 0.9727(30)
X2 =0.05 X2 =272
a = 0.2064(46)
48 - - - - yr = 0.9822(55)
X% =133
Table S8. As Table S5 but for R = —0.22.
Lmax 24 32 48 64 88
Lmin
a=02122(14) a=02060(11) a=020043(87) a=0.19573(76) a =0.19291(71)
8 yr = 0.8781(25) y; = 0.8907(19) y; =0.9019(15) y; = 0.9112(13) y; = 0.9167(12)
X% =50.78 X% = 54.35 X% =70.52 X2 = 86.54 X% =95.88
a=0.1819(24) a=0.1785(16) a=0.1750(13) a=0.1721(11)
16 - yr = 09302(42) y; = 0.9365(28) y; = 0.9431(22) y; = 0.9484(19)
X% = 0.00 X% =201 X2 =5.70 X2 =1145
a=01740(33) a=0.1689(22) a=0.1645(18)
24 - - yr = 0.9437(54)  y; = 0.9525(36) y; = 0.9600(30)
X2 =153 X2 =322 X2 =7.05
a=01632(33) a=0.1580(26)
32 - - - yr = 0.9612(53)  y; = 0.9702(42)
X2 =147 X2 = 4.60
a = 0.1452(50)
48 - - - - yr = 0.9905(84)

X2 =147

2.2. Determining the inverse critical temperature B, from the real part of the Fisher zeros

With the limited number of data points, a three-parameter fit for the real part of
the Fisher zero is rather unstable. Therefore, we fix y; = 1 in the fit ansatz R(Bo(L)) =
Bec —aL =¥t — bL~2t. Results are shown in Tables S9 to S12.
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Table S9. Fitting parameters of FSS fits using the ansatz R(Bo(L)) = B —aL ™V —bL= % (y; = 1
fixed) for R = —0.1 and different fitting ranges.

Lmax 32 48 64 88
Lmin
a=0.279(41) a = 0.310(21) a = 0.301(19) a = 0.304(16)
g b = 1.13(25) b = 0.95(15) b =1.00(14) b =0.99(12)
Be =1.0226(13)/];  Bc=1.02371(52)/]1 Bc = 1.02344(43)/]1  Bc = 1.02350(32)/]1
X2 =029 X2 =055 X% =0.65 X% =050
a = 0.351(75) a = 0.300(59) a = 0.309(41)
16 ~ b = 0.44(92) b = 1.02(75) b = 0.92(55)
Bc =1.0244(13)/]; B =1.02342(94)/]; B. = 1.02357(58)/];
X2 =079 X2 =098 X% =0.66
a = 0.27(15) a = 0.307(79)
" ~ ~ b=1.6(2.6) b=1.0(15)
Bc =1.0230(20)/];  Bc = 1.02355(91) /]
X2 =1.89 X2 = 1.00
a=022(14)
- ~ ~ _ b =3.4(3.3)
Be = 1.0228(13)/J;
X; =129
Table S10. As Table S9 but for R = —0.2.
Lmax 32 48 64 88
Lmin
a = 0.813(62) a = 0.803(34) a = 0.841(30) a = 0.853(25)
g b = 6.64(38) b = 6.70(23) b= 6.47(21) b = 6.40(18)
Be = 2.6563(20)/]; Bc =2.65588(85)/]1 Bc =2.65706(72)/]1 B = 2.65740(54)/]
X% =0.01 X% =0.02 XZ=222 X2 =179
a=079(11) a = 0.940(92) a = 0.932(64)
16 ~ b=69(14) b=52(12) b = 5.26(87)
Be =2.6556(20)/]1  Bc =2.6586(15)/];  Bc = 2.65843(94)/];
X2 =0.03 X% =268 X2 =179
a=1.29(25) a = 1.04(13)
o4 ~ ~ b=-1.0(42) b=31(24)
Be =2.6630(33)/]1  Bc =2.6596(15)/];
X% =3.02 x2=221
a=112(22)
- ~ ~ ~ b=1.1(53)

Be = 2.6603(22)/];
X2 =423
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Table S11. As Table S9 but for R = —0.21.

Lmax 32 48 64 88
Lmin
a = 1.010(65) a = 1.040(31) a = 1.056(25) a = 1.106(20)
g b =9.91(39) b =9.74(22) b =9.65(19) b =9.34(17)
Be =3.2539(23)/]1 Bc=325504(91)/]1 Bc=3.25560(64)/]1 PBc=3.25721(42)/]1
X2 =4.80 X2 =254 X2 =194 X2 =422
a=122(13) a = 1.208(97) a = 1.314(64)
16 ~ b=76(16) b=77(12) b = 6.48(86)
Bc =3.2581(24)/]1  Bc=32578(15)/]1  Bc=3.25965(83)/]
X% =313 X% =158 X2 =176
a=094(27) a=1.36(13)
" ~ ~ b=12.6(4.7) b=5.6(26)
Bc=32545(34)/1  Bc =3.2601(14)/];
X2 = 2.00 X2 =257
a=181(24)
- ~ ~ ~ b= -73(63)
Bec = 3.2637(22) /]
X2 =018
Table S12. As Table S9 but for R = —0.22.
Lmax 32 48 64 88
Liin
a = 1.565(76) a = 1.481(44) a=1.511(37) a = 1.500(31)
g b = 13.85(50) b = 14.36(33) b = 14.17(29) b = 14.25(25)
Be =42722(22)/];  Bc =4.26966(98)/]1 Bc = 4.27045(77)/]1 B = 4.27017(59)/
X2 =114 X2 =147 X% =155 X2 =124
a=1.40(12) a = 1.518(90) a = 1.486(65)
16 ~ b =15.5(1.5) b=14.1(1.2) b = 14.46(93)
Bc =4.2683(20)/]1 B =4.2705(14)/);  Bc =4.27000(94)/];
X2 =239 X2 =232 X2 =1.63
a=149(21) a = 1.44(13)
” ~ ~ b =14.6(3.8) b = 15.5(2.5)
Bc =42702(27)/]1 B =4.2695(15)/];
X2 =4.62 X2 =236
a = 1.65(20)
0 ~ ~ ~ b =10.2(4.6)
Be = 4.2715(21) /]
X2 =284

2.3. Field exponent yy,

We use either the imaginary part of the Lee-Yang zeros or the magnetic susceptibility
to obtain yy,, in both cases considering the system directly at the infinite-volume inverse
critical temperature .. As described in the main text, the error bars for y; obtained after
fixing B, at the values of Tables 59-512 using FSS fits do not account for the uncertainty
in B.. Therefore, we use jackknifing over the whole process to correctly include both the
statistical error in 3. as well as that in the Lee-Yang zeros and the susceptibility, respectively.
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2.3.1. From the imaginary part of the Lee-Yang zeros

Table S13. Fitting parameters of FSS fits at B, using the ansatz $(hg(L)) = aL™¥ for R = —0.1 and

different fitting ranges, using the jackknife procedure described in the main text.

Lmax 24 32 48 64 88
Lmin
a = 0.7329(11) a=073178(82) a=07317(17) a=07313(28) a=0.7313(38)
8 yn = 1.87629(97)  yj, = 1.87564(69) yj, = 1.8756(13) y;, = 1.8754(20) v, = 1.8754(25)
X2 = 0.22(56) X2 =1.6(17) X2 =14(19) X2 =1.5(2.6) X2 =15(3.1)
a = 0.7297(26) a=07305(41) a=0.7302(55) a=0.7306(67)
16 - y, = 1.8747(13)  y, = 1.8751(23) y;, = 1.8750(30) vy, = 1.8751(35)
X2 =23(1.8) X2 =1.6(3.0) X2 =12(3.0) X2 =1.1(3.4)
a=07290(80) a=0.7294(91) a=0.730(10)
24 - - yn, = 1.8745(38) y;, = 1.8747(42) vy, = 1.8750(46)
X2 =2.6(6.3) X2 =14(3.5) X2 =1.1(26)
a = 0.733(11) a = 0.733(11)
32 - - - v, = 1.8758(49) vy, = 1.8757(50)
X2 =0.7(1.6) X2 = 0.42(88)
a=0731(11)
48 - - - - v, = 1.8752(49)
X2 =0.4(1.3)
Table S14. As Table S13 but for R = —0.2.
Lmax 24 32 48 64 88
Lmin
a=026075(58) a=0.26028(72) a=0.26021(83) a=0.26013(95) a = 0.2600(15)
8 y, = 1.8780(13) yj, = 1.8772(16) vy, = 1.8771(18) y;, = 1.8769(20) v, = 1.8767(30)
X2 = 0.8(4.3) X2 =21(4.1) X% =15(3.1) X% =15(3.6) X2 =19(47)
a=02584(16) a=02590(17) a=02590(21) a = 0.2592(30)
16 - yn, = 1.8750(26) y, = 1.8757(28) y, = 1.8757(32) yj, = 1.8759(44)
X% = 0.6(2.0) X% =0.62(87) X% = 0.47(65) X% =0.51(73)
a=02592(24) a=02590(26) a=0.2593(36)
24 - - y, = 1.8759(35) yj, = 1.8757(38) vy, = 1.8760(48)
X2 =1.0(1.8) X2 = 0.64(88) X2 = 0.54(77)
a=02598(30) a = 0.2596(40)
32 - - - yp = 1.8765(41) y, = 1.8763(52)
X% =05(1.4) X% = 0.35(88)
a = 0.2591(55)
48 - - - - v, = 1.8758(66)

X2 =03(14)
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Table S15. As Table S13 but for R = —0.21.

Lmax 24 32 48 64 88
Lmin
a=021298(68) a=021264(67) a=021235(79) a =0.21240(90) a = 0.2125(14)
8 y, = 1.8826(16) 1y, = 1.8819(17) y;, = 1.8813(20) y;, = 1.8814(22) y;, = 1.8817(30)
X% =0.17(52) X% =18(2.1) X% =1.7(2.0) X2 =14(14) X% =1.5(2.0)
a=02114(14) a=02116(13) a=02119(14) a = 0.2124(20)
16 - y, = 1.8799(27) y;, = 1.8803(26) 1y, = 1.8807(29) y;, = 1.8814(37)
X2 =1.6(2.2) X2 =0.9(1.2) X2 =1.0(1.4) X2 =1.5(2.3)
a=02112(17) a=02119(20) a = 0.2127(27)
24 - - y, = 1.8798(30) yj, = 1.8807(35) v, = 1.8818(44)
X% =14(2.1) X% =1.5(2.0) X% =1.6(2.0)
a=02143(25)  a = 0.2139(30)
32 - - - yn, = 1.8836(38) y;, = 1.8831(48)
X2 = 0.21(69) X2 = 0.26(77)
a = 0.2139(39)
48 - - - - y;, = 1.8832(57)
X2 =02(1.1)
Table S16. As Table S13 but for R = —0.22.
Lmax 24 32 48 64 88
Lmin
a=0.16181(28) a=0.16140(38) a=0.16102(42) a =0.16083(36) a = 0.16081(36)
8 y, = 1.88294(89) vy, = 1.8818(11) y, = 1.8808(12) y;, = 1.8804(10) v, = 1.8803(10)
X2 =1.1(18) X2 =3.7(29) X2 =62(3.5) X2 =53(25) X2 =43(19)
a=01592(11) a=0.15869(85) a =0.15944(62) a = 0.15948(58)
16 - yp, = 1.8777(22) y, = 1.8766(16) y;, = 1.8781(14) y;, = 1.8781(13)
X2 =11(22) X2 =1.0(14) X2 =1.6(1.7) X2 =12(1.3)
a=0.15792(83) a=0.15935(84) a = 0.15941(76)
24 - - v, = 1.8752(17)  y;, = 1.8779(18) y, = 1.8780(17)
X2 = 0.14(64) X2 =22(25) X2 =1.6(17)
a=0.1602(12) a=0.1602(11)
32 - - - yp = 1.8792(23) y;, = 1.8793(21)
X2 =25(32) X2 =13(17)
a = 0.1625(22)
48 - - - - v, = 1.8827(36)

X2 =10.7(1.9)
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2.3.2. From ordinary FSS

Table S17. Fitting parameters of FSS fits at . using the ansatz x1 (8.) = aL?»~P for R = —0.1 and
different fitting ranges, using the jackknife procedure described in the main text. D = 2 is the spatial

dimension.
Lmax 24 32 48 64 88
Lmin
a = 2.3235(60) a = 2.3324(45) a=123364(88) a=2342(16) a = 2.344(21)
8 y, = 1.87813(86) vy, = 1.87730(57) yj, = 1.8769(11) vy, = 1.8764(17) vy, = 1.8763(21)
X% = 0.20(47) X2 =39(34) X2 =3.6(3.3) X2 =4.5(5.5) X2 =42(52)
a = 2.359(14) a = 2.356(23) a = 2.360(31) a = 2.358(38)
16 - y, = 1.8755(11)  yj, = 1.8757(20) y;, = 1.8754(26) vy, = 1.8755(31)
X2 =27(2.0) X2 =1.7(3.0) X2 =14(2.5) X2 =1.3(29)
a = 2.367(46) a=2367(51) a = 2.363(57)
24 - - y, = 1.8751(34) y;, = 1.8750(37) 1y, = 1.8753(40)
X2 =27(6.5) X2 =14(34) X2 =11(27)
a = 2.351(62) a = 2.351(63)
32 - - - yp = 1.8759(42) y;, = 1.8759(43)
X2 =1.0(1.9) X2 =0.6(1.0)
a=2.361(64)
48 - - - - v, = 1.8754(43)
X2 =07(17)
Table S18. As Table S17 but for R = —0.2.
Lmax 24 32 48 64 88
Liin
a = 6.944(31) a = 6.990(37) a = 7.013(43) a = 7.027(48) a = 7.067(85)
8 y, = 1.8828(13) y, = 1.8813(14) y;, = 1.8805(16) vy = 1.8801(17) y;, = 1.8789(28)
Xy =5(13) Xy = 11(15) Xv = 11(14) X = 12(15) Xy = 18(23)
a = 7202(79) a = 7.200(86) a="721(10) a="722(15)
16 - v = 1.8767(23) vy, = 1.8767(24) vy = 1.8765(28) vy, = 1.8763(38)
X2 =12(3.1) X2 =0.7(1.6) X2 = 0.6(1.1) X2 = 0.6(1.1)
a="723(12) a=724(13) a=723(18)
24 - - yn, = 1.8761(30) y, = 1.8759(33) y;, = 1.8761(42)
X% =0.8(1.5) X% =0.53(77) X% = 0.46(67)
a="721(15) a = 7.22(20)
32 - - y, = 1.8765(36)  yj, = 1.8763(46)
X2 = 0.5(1.4) X2 = 0.36(88)
a="724(27)
48 - - - y, = 1.8759(57)

X% =03(1.4)
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Table S19. As Table S17 but for R = —0.21.

Lmax 24 32 48 64 88
Lmin
a = 8.488(44) a = 8.537(37) a = 8.627(55) a = 8.637(61) a = 8.669(95)
8 y, = 1.8873(13) y, = 1.8860(11) vy, = 1.8839(16) y;, = 1.8837(18) y;, = 1.8830(25)
X% =52(3.3) X2 =101(46) x2=162(77) x>=128(64) x2=126(8.2)
a = 8.795(97) a = 8.819(92) a = 8.81(10) a=8.79(15)
16 - v, = 1.8812(23) y, = 1.8807(22) y, = 1.8810(24) y;, = 1.8813(33)
X2 =2.6(2.8) X2 = 1.5(1.5) X2 = 1.3(1.3) X2 = 1.3(1.8)
a=889(12) a = 8.84(14) a = 8.79(20)
24 - - y, = 1.8797(26) y;, = 1.8804(30) v, = 1.8812(39)
X% =14(2.1) X% =1.5(2.0) X% =15(2.1)
a=8.68(17) a=872(22)
32 - - - v, = 1.8828(33) y;, = 1.8823(43)
X% =0.23(83) X% =0.31(86)
a = 8.72(28)
48 - - - - y;, = 1.8823(50)
X2 = 0.3(1.2)
Table S20. As Table S17 but for R = —0.22.
Lmax 24 32 48 64 88
Liin
a = 11.203(30) a=11292(53) a=11373(67) a=11.460(56) a = 11.467(55)
8 y, = 1.88778(65) y;, = 1.8860(11) vy, = 1.8845(12) y;, = 1.88300(95) v, = 1.88288(95)
X2 =52(3.7) X2 =134(55) x2=216(84) x> =1248(6.1) X2 = 20.6(5.0)
a = 11.81(15) a=11.92(13) a = 11.853(87) a = 11.851(83)
16 - y, = 1.8791(19) vy, = 1.8777(16) vy, = 1.8786(13) vy, = 1.8786(12)
X2 =26(3.4) X2 =122(24) X2 =20(1.9) X2 =15(14)
a=12.07(12) a=11.89(11) a = 11.89(10)
24 - - y, = 1.8758(16) y;, = 1.8781(15)  y;, = 1.8782(15)
X2 = 0.15(75) X2 =21(27) X2 =15(19)
a=11.79(15) a=11.79(14)
32 - - - v, = 1.8792(19)  y;, = 1.8792(18)
X2 =22(34) X2 =12(17)
a = 11.54(27)
48 - - - - y, = 1.8817(30)

X2 =0.8(1.9)
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